B N ERE

1. LEA4
T4 KA AR BEAR K B B 2 > 1 3 1.5
T4 e IR R[] T <SR A BB R 4
2. TENE
1) FHHEH4 RIS SET T % #
2) X LM W T
3) T i 303 H M H & 78 5H 1H
ES S0 84 2H27H
4) T EgE

i@ Aokt 5w m



PR NERE

T4 | KTE KBRS A€ D 1 3 T.%

THRX Sy « Lff - fi5 HOAL ¥ = & i a1l % 7
SR = 1 146, 635, 722
W+ T = 1 145, 634, 200
PR L (ICT) = 1 145, 634, 200 |#EH!] (ICT) 23, 500 m3
+#)
Eell 70, 500 m3
+H15
A 1 =
W Cadl- ERIRY L&)
A 1 =
W Cadl- ERIRY L&)
A 1 =Y
W CaBl- ERIRY H&Te) ;
HiEYME T = 1 1,001, 522
g i L T Y 1 366, 068 | &li%E IR Ak AL 1,730 m2
TAT7 MR EE IR AR 15emBA T
TER L T = 1 635, 454 | FRIEM 1 =
TAT7V AR
BTy 86 m3
TAT7V AR
EET RS = 1 146, 635, 722
Il R Y 1 13, 339, 257
B 2 = 1 2,987, 257
TE = 1 974, 800 | BT AL AEIR Sy R ST B 05 B 1 =
e s H 2V 1 681,457 | R~ BE (ICT) 1 =Y
YATARI I (ICT) 1 2V
BlGREUER (FE L) =Y 1 1, 331, 000

-1 - ESR o3 E < o] 3 ok S




FNER

T4 | KTE KBRS A€ D 1 3 T.%

THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 10, 352, 000
Wi TR = 159, 974, 979
B Bt v 39, 529, 000
TRl = 199, 503, 979
—fRE R % v 31, 196, 021
T fifik& = 230, 700, 000

i@ Aokt 5w m




